| eI NEY TN — ) LB )N A R pvs—na2) (ERON)’

| DRILL PRESS VISES ~ No.E-9117,E-9117B

OIS VIEIA L F BEEICHFERTEETT . (R—)LEE
BEDR. EEEAEOEBRBREIIEELCHIEFEA)
O ABRUTEFHDIFTHIET, (P7701FFR)
®P350.P400.P300.P770lF GENRICT IARIT U2 —
ZERLTH BN TIRECT T,
ON\VRILUN=DIESDEFI—ILRANYFT VTR THY

P150-P250

HEXHIHITEBFE Ao
P150 %P350
P400 P250
P400 —
THE e ==
E
G _Blmax]
] / ‘
© B — bt T
o ol
XP350DH, AI@EICT S SED
MFTHIET.
P300
o < R = —ic=]
R
P
E
~ G _Blmax]
2 T
7 7T
> o
A 4 [} T
p770
AN
o < e
AN
P
E
G_ Blmax |
P
@ Y J —— 1 ¢ T
o
@l
5 l_?_ T ‘ [}

SINCE 1560

1288 CADF—559v0—k - EEIRRIE Web ¥4 hT! [ 7P | ua\ NABEYA co..LTp.

2023%128




By X%

No. A B C D E [F G
P150 38 38 25 47 108 22 25.5
P250 62 64 38 67 158 29 37
P300 81 84 38 66 183 28 375
P350 75 79 45 76 186 31 38.5
P400 101.5 104 45 83 238 38 48
P770 94 105 425 66 273 235 24

No. H | : J : K o P R
P150 46 5 W3/8 16LL/0¢ ®12 - -

P250 97 8 W1/2 121/0 ®19 - -
P300 114 8 TW16 8lL/04:  7A22 101 66.5 17
P350 114 8 TW16 8LI/0F  73AE22 = -
P400 114 8 TWI16 8LI/0N.  7XA22 - -
P770 114 8 TW16 8lLI/0Y:  7KAE22 127 127 13
D U il RS * EEEER  * LR TRE
F—5"—No. No. o w2 mliE] BiEkg 1A
* 900079 P150 38 25 38 0.8 13,500
* 900493 P250 62 38 64 2.6 15,000
* 900499 P300 81 38 84 39 20,500
* 900494 P350 75 45 79 4.4 29,000
* 900495 P400 101.5 45 104 7.7 33,700
* 900500 P770 94 425 105 5.2 13,000
DI EmEER
BiR 2RIV * {ERERRV TR
BE +—5'—No. No. i BOwE Z—5"—No. No. 1A%
P150,P150A 943915 P150-BP 2,010 P150 943909 | P150 -SP 3,180
P250,P250A,P300| 943916 P250-BP 2,010 P150A % 943910 | P150A-SP 3,180
P350,P350A 943917 P350-BP 2,300 P250 943911 | P250 -SP 3,180
P400,P400AP770| 943918 P400-BP 2,300 P250A % 943912 | P250A-SP 3,180
P350 946805 | P350 -SP 3,890
P350A,P400,P770| 943913 | P400 -SP 3,890
P400A,P400AS % 943914 | P400A-SP 3,890
H |
e
2N
o 90° . c
- B )
O (j/ I o _ === ()‘/ @ @
E E
A
A
O (2 148) * 7ERERRV CREE
EEHIE #—5"—No. No. A B C D E  F iG@aB  H i I  J i
P150,P150A | 930959 | P150-JA | 38 = 25 55 4 23 13 M4X07 4 4 19 3,890
P250,P250A | 930960 | P250-JA | 62 38 - 75 45 : 40 19 < M5X08 5 55 : 27 3,890
P300 % 930961 | P300-JA | 81 38 75 45 43 19 M5x08 5 5 27.5| 4,810
P350,P350A | 930962 | P350-JA | 75 : 45 - 8 6 43 235 M5X0.8: 55 55 | 32 5,850
P400,P400A | 930963 | P400-JA |1015 45 = 8 6 58 22 M6X1 6 6.5 | 32 5,850

SINCE 1560

NABEYA co..L .

2023%128

CADF—959y0—k « EERRI Web ¥ bT! [ 7T

|

NAZSWA

1289





